
EXHIBIT # 16

   FCC Requirements  CRF 47 Part 2.1033,c (13)

                  Modulation System Description

      JXBLMDSXP4-DS3



Type of Emission, Necessary Bandwidth and Modulation Characteristics for DS3

The DMC XP4 T-Carrier radio is employed to process digital information of various types.  Voice, data,
television, and many other information types can be encoded and transmitted across this radio system.
The  emission designator (35MOF7W) was developed by the following process:

The necessary bandwidth was developed from the following equation: CFR 47 part 2.202, (b)

For DS3 Data rate (including overhead):

Bn = 2 DK + B

B = R/log(base2) of S

B = (49.3Mbits/sec.)/2 = 24.65M Symbols/sec.

Where:  Bn = Necessary bandwidth in MHz
 R= Aggregate bit rate in bits/sec = 49.3 Mbits/sec.
 S= number of transmitter levels = 4
 D= deviation in MHz = 5.175 MHz
 K= 1 for this modulation type

Therefore Bn = (2) (5.175E+6) (1) + 24.65E+6 = 35.0 MHz

The F7W portion of the designator is derived as follows
F = Frequency Modulation [CFR47 part 2.201 (c)]
7 = is the nature of the modulation signal [CFR47 part2.201 (d)]
W = is the type of information transmitted [CFR47 part2.201 (e)]

The resultant complete emission designator can be stated as 35MOF7W



CFR 47 Part2.1051 / 101.111  Spurious Emissions at Antenna terminal
JXBLMDSXP4-DS3

The radio frequency generated within the equipment and appearing at the antenna terminal has been
measured as shown in the data section of this report.  The data limits required by the commission can be
found in CFR 47 Part 101.111  a,(2),ii.  /  2.1051

Attenuation below means output power = 11 +.4(P-50) + 1O*Log B

P = Percentage removed from the carrier frequency
B = Authorized bandwidth = 35 MHz

Frequency Removed (MHz) Attenuation below carrier(db)

-87.5 -29
-87.5 -56
-43.36 -56
-17.5 -26.44
-17.5 0
0 0
17.5 0
17.5 -26.44
43.36 -56
87.5 -56
87.5 -29
110000.0 -29

Outside 250% of the occupied 99% width uses CFR, Part 101.111 a,(2) iii

In any 4 KHz band, the center frequency removed from the center frequency by more than 250% of the
authorized:

Attenuation below the means carrier power =/< 43 + 10* Log( Means Output Power)

Means output power level = .0398Watts

Attenuation =/< 43 -14 = 29 dBC
















